. LINE UP THE H/T/0 CORRECTLY.

. START N THE ONES COLUMN, ADD THE
NUMBERS TOGETHER.

. REPEAT N THE TENS COLUMN, THEN THE

AUNDREDS  COLUMN.

. REMEMBER TO CARRY INTO THE NEXT COL-
UMM 1F YOUR NUMBER GOES OVER 9.

FAAMPLE
| 23 > 5 3

R A
465 6 8 2




. LINE UP THE H/T/0 CORRECTLY.

U
2. START IN' THE ONES COLUMN, SUBTRACT
THE BOTTOM NUMBER FROM THE TOP
NUMBER.

. REPEAT N THE TENS COLUMN, THEN THE
AUNDREDS  COLUMN.

. REMEMBER TO BORROW FROM THE NEAT
COLUMN 1F NEEDED.

FHAMPLE
393

123




. PLACE YOUR NOMBERS ONE O TOP OF THE
ITHER

2. MULTIPLY THE BOTTOM NUMBER BY TAE

VUMBER DIRECTLY ABOVE IT. RECORD THE

NIT IV THE AVSVER BOK AND CARRY THE

TENS.

3. REPEAT TR THE WEKT WOMBER ALONG
AND THEN THE NEAT.

G REEMBER TO ADD N THE CARRIED TENS
CACH TIME. ) 4 3

ERAMPLE ‘ 3

126




. MULTIPLY THE BOTTOM NUMBER BY THE
VUMBER DIRECTLY ABOVE 1T. RECORD THE
INIT IV THE ANSWER BON AND CARRY THE
TENS. REPEAT VITH THE OTHER DIGITS.

2. ADD A PLACE HOLDER BELOV.

3. USE THE NEAT DIGIT IN' THE BOTTOM
VUMBER TO MULTIPLY EACH OF THE TOP
NUMBERS I TURN.

4. ADD THE CARRIED DIGITS
AS 10U 60 ALONG.
5. ADD THE TWD ANSVERS.

EAAMPLE




. PLACE THE DIGITS |
2. DVIDE THE FIRST D

N THE BUS STOP.

BT IN° THE BUS STOP

BY THE DIGIT DUTSIDE THE BUS STOP.

3. WRITE THE ANSVIER

ABOVE.

4. REPEAT VITH ALL THE DIGITS INSIDE THE

BUS STOP.

5. IF THE NUMBER DOESN'T "GO IN" THEN
CARRY THE DIGIT ACRDSS.

6. THIS WORRS WITH DECIMAL NUMBERS TOD

EAAMPLE

)|
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. DIVIDE

2. MULTIPLY

3. SUBTRACT
4. BRING DOUN

5. REPEAT UNTIL YOU GET TO 0 ZERD OR A
REMAINDER.

6. CHECK YOUR ANSWER 1S SENSIBLE

2 3 hl
CIADLE E




AF THE DENOMINATORS ARE THE SAME,
SIMPLY SUBTRACT ON NUMERATOR FROM THE
UTHER.

EAAMPLE

- AF THE DENOMINATORS ARE DIFFERENT THEN
ISE THE SMILE AND A KIS METHOD.




. IF THE DENOMINATORS ARE THE SAME,
SIMPLY ADD THE NUMERATOR TOGETHER.

FAAMPLE G 3 =9
010

. AF THE DENOMINATORS ARE DIFFERENT THEN
ISE THE SMILE AND A KISS METHOD.




| MULTIPLY THE NUMERATORS TOGETAER.

2. MOLTIPLY THE DENOMINATORS TOGETHER.

3. SIMPLIFY 1F NECESSARY.

EAAMPLE




.

.

WHEN MULTIPLYING A FRACTION BY A WHOLE
VUMBER YOU MUST TURN' THE WHOLE NUMBER
INTO A FRACTION. (THE NUMBER GIVEN 1S
THE NUMERATOR, OVER T AS THE
DENOMINATOR.)

THEN" CARRY OUT THE MOLTIPLICATION AS

{00 NORMALLY WOULD: MOLTIPLY THE

V
.

UMERATORS TOGETHER AND THEN MULTIPLY
i DENOMINATORS TOGETHER.
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. VHEN DIVIDING A FRACTION BY A VHOLE
VUMBER YOU MUST TURN' THE WHOLE NUMBER
INTO A FRACTION. (THE NUMBER GIVEN 1S
THE NUMERATOR, OVER T AS THE
DENOMINATOR.)

2. N0V fL
THE 0T

MULTIPL

EAAMPLE

IE SECOND FRACTION (LIKE IN
METHOD) AND CARRY OUT 4




—
—

LY THE NOMERATORS TOGETHER
LTIPLY THE DENOMINATORS TOGETHER.
PLIEY IF NECESSARY.

5 = 5 =
)
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